						Teichert Construction		McGuire and Hester		
			DID CHAMAADV	ENICINIEED!C		7060 Koll Center		9009 Railroad Avenue		
			BID SUMMARY	ENGINEER'S	ESIIMAIE	Pleasanton, CA	94588	Oakland, CA 94603		
						(925) 621-5705		(510) 632-7676		
							(925) 621-5799 Fax		(510) 562-5209 Fax	
ITEM	EM QTY. UNIT		DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	1	LS	MOBILIZATION	\$10,000.00	\$10,000.00	\$29,264.00	\$29,264.00	\$7,000.00	\$7,000.00	
2	1	LS	TRAFFIC CONTROL	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	
3	1	LS	CLEARING AND GRUBBING	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$2,200.00	\$2,200.00	
4	238	CY	4(F) EXCAVATION	\$90.00	\$21,420.00	\$45.00	\$10,710.00	\$49.00	\$11,662.00	
5	922	CY	5(F) ROADWAY EXCAVATION	\$90.00	\$82,980.00	\$45.00	\$41,490.00	\$42.00	\$38,724.00	
6	201	LF	REMOVE EXISTING FENCE	\$50.00	\$10,050.00	\$5.00	\$1,005.00	\$10.00	\$2,010.00	
7	1	EA	REMOVE EXISTING SLIDE GATE	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	
8	22	LF	REMOVE EXISTING CURB AND GUTTER	\$18.00	\$396.00	\$15.00	\$330.00	\$26.00	\$572.00	
9	1085	LF	MINOR CONCRETE (CURB AND GUTTER)	\$30.00	\$32,550.00	\$25.00	\$27,125.00	\$44.00	\$47,740.00	
10	115	LF	MINOR CONCRETE (VALLEY GUTTER)	\$125.00	\$14,375.00	\$62.00	\$7,130.00	\$100.00	\$11,500.00	
11	2156	SF	MINOR CONCRETE (4' SIDEWALK)	\$10.00	\$21,560.00	\$6.25	\$13,475.00	\$6.50	\$14,014.00	
12	100	SF	11(A) MINOR CONCRETE (DRIVEWAY - 6" THICK)	\$15.00	\$1,500.00	\$14.00	\$1,400.00	\$11.00	\$1,100.00	
13	304	SF	MINOR CONCRETE (CURB RAMP WITH DETECTABLE WARNING SURFACE)	\$25.00	\$7,600.00	\$21.00	\$6,384.00	\$10.50	\$3,192.00	
14	911	TN	HOT MIX ASPHALT	\$125.00	\$113,875.00	\$100.00	\$91,100.00	\$100.50	\$91,555.50	
15	203	CY	AGGREGATE BASE	\$60.00	\$12,180.00	\$20.00	\$4,060.00		\$13,804.00	
16	286	LF	12-INCH RCP STORM DRAIN	\$200.00	\$57,200.00	\$90.00	\$25,740.00	\$106.00	\$30,316.00	
1 <i>7</i>	3	EA	TYPE 'A' STORM DRAIN INLET	\$4,000.00	\$12,000.00	\$3,500.00	\$10,500.00	\$4,300.00	\$12,900.00	
18	2	EA	STANDARD AREA DRAIN	\$2,500.00	\$5,000.00	\$1,100.00	\$2,200.00	\$1,400.00	\$2,800.00	
19	242	LF	3-INCH CAST IRON PIPE	\$35.00	\$8,470.00	\$35.00	\$8,470.00	\$58.00	\$14,036.00	
20	1018	LF	6-FT CHAIN LINK FENCE	\$40.00	\$40,720.00	\$24.00	\$24,432.00	\$27.00	\$27,486.00	
21	2	EA	25-FT MANUAL SLIDE GATE	\$750.00	\$1,500.00	\$2,300.00	\$4,600.00	\$2,400.00	\$4,800.00	
22	6	EA	STREETLIGHT INSTALLATION	\$3,000.00	\$18,000.00	\$2,600.00	\$15,600.00	\$2,800.00	\$16,800.00	
23	941	LF	STREETLIGHT CONDUIT	\$20.00	\$18,820.00	\$23.00	\$21,643.00	\$26.00	\$24,466.00	
24	6	EA	STREETLIGHT PULL BOX	\$500.00	\$3,000.00	\$530.00	\$3,180.00	\$600.00	\$3,600.00	
25	1	LS	THERMOPLASTIC STRIPE, MARKINGS, AND PAVEMENT MARKERS	\$10,000.00	\$10,000.00	\$4,725.00	\$4,725.00	\$3,000.00	\$3,000.00	
26	1	EA	NEW ROADSIDE SIGN	\$1,000.00	\$1,000.00	\$250.00	\$250.00	\$400.00	\$400.00	
27	1	LS	RECYCLING IMPLEMENTATION	\$1,000.00	\$1,000.00	\$250.00	\$250.00	\$1.00	\$1.00	
		1	TOTAL		\$520,196.00		\$360,063.00		\$389,178.50	

BID SUMMARY						Alaniz Construction, Inc.		Granite Rock Company		
				ENICINIEED'S	ENICINIFEDIC ECTIMA A TE		7160 Stevenson Blvd		120 Granite Rock Way	
				ENGINEER'S ESTIMATE		Fremont, CA 94538		San Jose, CA 95136		
							(510) 770-5000		(408) 574-1400	
								(408) 365-9548	Fax	
ITEM	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	1	LS	MOBILIZATION	\$10,000.00	\$10,000.00	\$8,200.00	\$8,200.00	\$40,000.00	\$40,000.00	
2	1	LS	TRAFFIC CONTROL	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$2,500.00	\$2,500.00	
3	1	LS	CLEARING AND GRUBBING	\$5,000.00	\$5,000.00	\$2,300.00	\$2,300.00	\$3,000.00	\$3,000.00	
4	238	CY	4(F) EXCAVATION	\$90.00	\$21,420.00	\$100.84	\$23,999.92	\$40.00	\$9,520.00	
5	922	CY	5(F) ROADWAY EXCAVATION	\$90.00	\$82,980.00	\$ <i>57</i> .81	\$53,299.90	\$40.00	\$36,880.00	
6	201	LF	REMOVE EXISTING FENCE	\$50.00	\$10,050.00	\$11.82	\$2,374.82	\$15.00	\$3,015.00	
7	1	EA	REMOVE EXISTING SLIDE GATE	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	
8	22	LF	REMOVE EXISTING CURB AND GUTTER	\$18.00	\$396.00	\$56.81	\$1,249.82	\$5.00	\$110.00	
9	1085	LF	MINOR CONCRETE (CURB AND GUTTER)	\$30.00	\$32,550.00	\$20.00	\$21,700.00	\$29.00	\$31,465.00	
10	115	LF	MINOR CONCRETE (VALLEY GUTTER)	\$125.00	\$14,375.00	\$81.84	\$9,411.60	\$78.00	\$8,970.00	
11	2156	SF	MINOR CONCRETE (4' SIDEWALK)	\$10.00	\$21,560.00	\$11.00	\$23,716.00	\$9.00	\$19,404.00	
12	100	SF	11(A) MINOR CONCRETE (DRIVEWAY - 6" THICK)	\$15.00	\$1,500.00	\$109.25	\$10,925.00	\$19.00	\$1,900.00	
13	304	SF	MINOR CONCRETE (CURB RAMP WITH DETECTABLE WARNING SURFACE)	\$25.00	\$7,600.00	\$40.63	\$12,351.52	\$33.00	\$10,032.00	
14	911	TN	HOT MIX ASPHALT	\$125.00	\$113,875.00	\$93.26	\$84,959.86	\$92.00	\$83,812.00	
15	203	CY	AGGREGATE BASE	\$60.00	\$12,180.00	\$68.93	\$13,992.79	\$85.00	\$17,255.00	
16	286	LF	12-INCH RCP STORM DRAIN	\$200.00	\$57,200.00	\$93.75	\$26,812.50	\$120.00	\$34,320.00	
1 <i>7</i>	3	EA	TYPE 'A' STORM DRAIN INLET	\$4,000.00	\$12,000.00	\$2,300.00	\$6,900.00	\$5,000.00	\$15,000.00	
18	2	EA	STANDARD AREA DRAIN	\$2,500.00	\$5,000.00	\$1,250.00	\$2,500.00	\$280.00	\$560.00	
19	242	LF	3-INCH CAST IRON PIPE	\$35.00	\$8,470.00	\$31.25	\$7,562.50	\$100.00	\$24,200.00	
20	1018	LF	6-FT CHAIN LINK FENCE	\$40.00	\$40,720.00	\$30.44	\$30,987.92	\$23.00	\$23,414.00	
21	2	EA	25-FT MANUAL SLIDE GATE	\$750.00	\$1,500.00	\$2,645.00	\$5,290.00	\$2,300.00	\$4,600.00	
22	6	EA	STREETLIGHT INSTALLATION	\$3,000.00	\$18,000.00	\$4,000.00	\$24,000.00	\$2,500.00	\$15,000.00	
23	941	LF	STREETLIGHT CONDUIT	\$20.00	\$18,820.00	\$12.34	\$11,611.94	\$25.00	\$23,525.00	
24	6	EA	STREETLIGHT PULL BOX	\$500.00	\$3,000.00	\$766.66	\$4,599.96	\$550.00	\$3,300.00	
25	1	LS	THERMOPLASTIC STRIPE, MARKINGS, AND PAVEMENT MARKERS	\$10,000.00	\$10,000.00	\$5,906.25	\$5,906.25	\$4,000.00	\$4,000.00	
26	1	EA	NEW ROADSIDE SIGN	\$1,000.00	\$1,000.00	\$312.00	\$312.00	\$200.00	\$200.00	
27	1	LS	RECYCLING IMPLEMENTATION	\$1,000.00	\$1,000.00	\$3,400.00	\$3,400.00	\$1,500.00	\$1,500.00	
			TOTAL		\$520,196.00		\$408,864.30		\$418,982.00	

						O'Grady Paving, Inc.		Integra Construction	
BID SUMMARY			ENCINEED'S	ESTIMATE	2513 Wyandotte Street		4133 Mohr Ave, Suite #D		
DID SUMMAK I					ENGINEER 3	Mountain View, CA 94043		Pleasanton, CA 94566	
					(650) 966-1926		(925) 596-5032		
						(650) 966-1946	Fax	(925) 398-8245	Fax
ITEM	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	1	LS	MOBILIZATION	\$10,000.00	\$10,000.00	\$62,000.00	\$62,000.00	\$6,290.00	\$6,290.00
2	1	LS	TRAFFIC CONTROL	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$10,340.00	\$10,340.00
3	1	LS	CLEARING AND GRUBBING	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$16,000.00	\$16,000.00
4	238	CY	4(F) EXCAVATION	\$90.00	\$21,420.00	\$80.00	\$19,040.00	\$139.00	\$33,082.00
5	922	CY	5(F) ROADWAY EXCAVATION	\$90.00	\$82,980.00	\$79.00	\$72,838.00	\$63.00	\$58,086.00
6	201	LF	REMOVE EXISTING FENCE	\$50.00	\$10,050.00	\$10.00	\$2,010.00	\$10.00	\$2,010.00
7	1	EA	REMOVE EXISTING SLIDE GATE	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
8	22	LF	REMOVE EXISTING CURB AND GUTTER	\$18.00	\$396.00	\$100.00	\$2,200.00	\$40.00	\$880.00
9	1085	LF	MINOR CONCRETE (CURB AND GUTTER)	\$30.00	\$32,550.00	\$27.00	\$29,295.00	\$35.00	\$37,975.00
10	115	LF	MINOR CONCRETE (VALLEY GUTTER)	\$125.00	\$14,375.00	\$66.00	\$7,590.00	\$90.00	\$10,350.00
11	2156	SF	MINOR CONCRETE (4' SIDEWALK)	\$10.00	\$21,560.00	\$7.00	\$15,092.00	\$10.00	\$21,560.00
12	100	SF	11(A) MINOR CONCRETE (DRIVEWAY - 6" THICK)	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$25.00	\$2,500.00
13	304	SF	MINOR CONCRETE (CURB RAMP WITH DETECTABLE WARNING SURFACE)	\$25.00	\$7,600.00	\$24.00	\$7,296.00	\$35.00	\$10,640.00
14	911	TN	HOT MIX ASPHALT	\$125.00	\$113,875.00	\$105.00	\$95,655.00	\$110.00	\$100,210.00
15	203	CY	AGGREGATE BASE	\$60.00	\$12,180.00	\$61.00	\$12,383.00	\$160.00	\$32,480.00
16	286	LF	12-INCH RCP STORM DRAIN	\$200.00	\$57,200.00	\$125.00	\$35,750.00	\$165.00	\$47,190.00
1 <i>7</i>	3	EA	TYPE 'A' STORM DRAIN INLET	\$4,000.00	\$12,000.00	\$3,000.00	\$9,000.00	\$2,000.00	\$6,000.00
18	2	EA	STANDARD AREA DRAIN	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00	\$2,375.00	\$4,750.00
19	242	LF	3-INCH CAST IRON PIPE	\$35.00	\$8,470.00	\$50.00	\$12,100.00	\$97.00	\$23,474.00
20	1018	LF	6-FT CHAIN LINK FENCE	\$40.00	\$40,720.00	\$25.00	\$25,450.00	\$27.00	\$27,486.00
21	2	EA	25-FT MANUAL SLIDE GATE	\$750.00	\$1,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$10,000.00
22	6	EA	STREETLIGHT INSTALLATION	\$3,000.00	\$18,000.00	\$2,700.00	\$16,200.00	\$2,000.00	\$12,000.00
23	941	LF	STREETLIGHT CONDUIT	\$20.00	\$18,820.00	\$25.00	\$23,525.00	\$8.00	\$7,528.00
24	6	EA	STREETLIGHT PULL BOX	\$500.00	\$3,000.00	\$650.00	\$3,900.00	\$900.00	\$5,400.00
25	1	LS	THERMOPLASTIC STRIPE, MARKINGS, AND PAVEMENT MARKERS	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
26	1	EA	NEW ROADSIDE SIGN	\$1,000.00	\$1,000.00	\$300.00	\$300.00	\$500.00	\$500.00
27	1	LS	RECYCLING IMPLEMENTATION	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$12,000.00	\$12,000.00
			TOTAL		\$520,196.00		\$480,124.00		\$505,231.00

						John Clay G.E.		
			DID CHAMA A DV		ENGINEER'S ESTIMATE		770 **	
			BID SUMMARY	ENGINEER'S			541	
						, (510) 783-5820		
						(510) 783-5939 F	ax	
ITEM	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	1	LS	MOBILIZATION	\$10,000.00	\$10,000.00	\$26,680.00	\$26,680.00	
2	1	LS	TRAFFIC CONTROL	\$5,000.00	\$5,000.00	\$22,680.00	\$22,680.00	
3	1	LS	CLEARING AND GRUBBING	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	
4	238	CY	4(F) EXCAVATION	\$90.00	\$21,420.00	\$100.00	\$23,800.00	
5	922	CY	5(F) ROADWAY EXCAVATION	\$90.00	\$82,980.00	\$60.00	\$55,320.00	
6	201	LF	REMOVE EXISTING FENCE	\$50.00	\$10,050.00	\$12.00	\$2,412.00	
7	1	EA	REMOVE EXISTING SLIDE GATE	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	
8	22	LF	REMOVE EXISTING CURB AND GUTTER	\$18.00	\$396.00	\$50.00	\$1,100.00	
9	1085	LF	MINOR CONCRETE (CURB AND GUTTER)	\$30.00	\$32,550.00	\$50.00	\$54,250.00	
10	115	LF	MINOR CONCRETE (VALLEY GUTTER)	\$125.00	\$14,375.00	\$82.00	\$9,430.00	
11	2156	SF	MINOR CONCRETE (4' SIDEWALK)	\$10.00	\$21,560.00	\$16.00	\$34,496.00	
12	100	SF	11(A) MINOR CONCRETE (DRIVEWAY - 6" THICK)	\$15.00	\$1,500.00	\$19.00	\$1,900.00	
13	304	SF	MINOR CONCRETE (CURB RAMP WITH DETECTABLE WARNING SURFACE)	\$25.00	\$7,600.00	\$40.00	\$12,160.00	
14	911	TN	HOT MIX ASPHALT	\$125.00	\$113,875.00	\$121.00	\$110,231.00	
15	203	CY	AGGREGATE BASE	\$60.00	\$12,180.00	\$269.00	\$54,607.00	
16	286	LF	12-INCH RCP STORM DRAIN	\$200.00	\$57,200.00	\$98.00	\$28,028.00	
1 <i>7</i>	3	EA	TYPE 'A' STORM DRAIN INLET	\$4,000.00	\$12,000.00	\$3,000.00	\$9,000.00	
18	2	EA	STANDARD AREA DRAIN	\$2,500.00	\$5,000.00	\$700.00	\$1,400.00	
19	242	LF	3-INCH CAST IRON PIPE	\$35.00	\$8,470.00	\$68.00	\$16,456.00	
20	1018	LF	6-FT CHAIN LINK FENCE	\$40.00	\$40,720.00	\$31.00	\$31,558.00	
21	2	EA	25-FT MANUAL SLIDE GATE	\$750.00	\$1,500.00	\$5,700.00	\$11,400.00	
22	6	EA	STREETLIGHT INSTALLATION	\$3,000.00	\$18,000.00	\$4,320.00	\$25,920.00	
23	941	LF	STREETLIGHT CONDUIT	\$20.00	\$18,820.00	\$23.00	\$21,643.00	
24	6	EA	STREETLIGHT PULL BOX	\$500.00	\$3,000.00	\$700.00	\$4,200.00	
25	1	LS	THERMOPLASTIC STRIPE, MARKINGS, AND PAVEMENT MARKERS	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	
26	1	EA	NEW ROADSIDE SIGN	\$1,000.00	\$1,000.00	\$250.00	\$250.00	
27	1		RECYCLING IMPLEMENTATION	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	
					• •			
			TOTAL		\$520,196.00		\$568,921.00	